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PREVIEW QUESTION BANK

Module Name : HOME SCIENCE-ENG
Exam Date : 09-Jul-2023 Batch : 10:00-12:00

Negative

Sr. || Client Question . .
Question Body and Alternatives Marks Marks

No. 1D

Objective Question

1 2301 4.0 1.00
Under which programme, the Government decided to give free food grains to about

81.4 crore beneficiaries for one year from January 1, 2023 ?

I.  Antodaya Yojana
2.  NFSA
3. TPDS
4.  Revamped TPDS
Al:1
A2:2
A3:3
Ad:4
Objective Question
22302 4.0 1.00
The Union Budget for announced that farmers in India would be given an

MSP of at least one and a half times the cost of production.

1. 2014-15
2. 2017-18
3. 2018-19
4.  2020-21
Al:1
A2:2
A3:3
A4:4
Objective Question
32303 4.0 1.00
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What is the contribution of the livestock sector to total agriculture GVA (at constant
prices) in 2020-21 ?

1 15.3 percent
2 24.3 percent
3. 7.9 percent

4 30.1 percent

A2:2
A3:3
Ad:4

Objective Question
4 2304 . . . 4.0 1.00
Who heads the Indian Council of Agricultural Research ?

I.  Cabinet Minister of Agriculture
2. Director General

3. Director of Agriculture

4.

Secretary, Agriculture

Objective Question
52305 . o . ) 4.0 [1.00
Which of the following is a secondary essential plant nutrient ?

1.  Potassium
2. Zinc

3.  Manganese
4.

Magnesium

A3:3 .
gcollegedumas
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Ad:4

Objective Question
6 2306 4.0 1.00
Small pustules of spores that may be dusty or compact and red, brown, yellow, or black

in colour, 1s knownas .................

1 Rust

2. Mildew
3. Smut
4, Blotch
Al:1l

A2:2

A3:3

Ad 4

Objective Question
72307 . ) ) ) ‘ - 40 1.00
Which of the following provides protection by preventing the pests from reaching the

main crop ?

I.  Intercropping
2. Crop rotation
3. Trap crops
4.

Variation in sowing time

A2:2
A3:3
Ad:4

Objective Question
8 2308 . ) o ) 40 1.00
Which country is the centre of origin of pigeonpea ?

1.  Turkey
2. Syria
3. India
4. Iran

Al gcollegedunias
India’s largest Student Revgmgatfurm

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html



7/10/23,12:18 PM 181_B1_Live_ HOMESCIENCE_1-120.html

A2:2
A3:3
Ad:4

Objective Question
9 2309 4.0 [1.00
What is the seed rate for spreading type groundnut ?

I.  100-150 kg/ha
2. 90-100 kg/ha
3. 60-70 kg/ha
4.  30-40 kg/ha

Objective Question
10 2310 4.0 1.00
Which of the following is not a commercial propagation method for mango ?

I. Budding

2. Inarching grafting
3. Veneer grafting
4.  Epicotyl grafting

Objective Question
11 2311 4.0 1.00

gcollegedunias
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Which of the following is true about the system of rice intensification ?
(A) Transplanting young seedlings usually 8-12 days old

(B) Planting single seeding rather than several seedlings

(C) Grown in non-puddled, aerobic soils under irrigation and high inputs
(D) Wide space planting

Choose the correct answer from the options given below :

1. (A), (B) and (C) only.
2. (A),(B) and (D) only.
3.  (A),(B),(C) and (D).
4. (B), (C) and (D) only.

Objective Question
122312 4.0 1.00
Under which of the following conditions, drip irrigation is suited ?

(A) Close-growing crops

(B) Widely spaced crops

(C) Undulating lands with a high infiltration rate

(D) Saline wrrigation water

Choose the correct answer from the options given below :

1. (A), (B) and (D) only.
2. (A),(B) and (C) only.
3.  (A),(B),(C) and (D).
4. (B), (C) and (D) only.

A2:2
gcollegedunias
India’s largest Student Rev‘g}é%atfurm

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live HOMESCIENCE_1-120.html *



7/10/23, 12:18 PM 181_B1_Live_ HOMESCIENCE_1-120.html
A3:3

A4 4

Objective Question
13 2313 . . . . 4.0 1.00
Which of the following statements are true about field preparation and planting of

sugarcane crops ?

(A) Deep ploughing with a soil-turning plough once in three years

(B) Seed material is setts which are small cut sections of sugarcane stalk
(C) Mature cane is best suited for seed material

(D) Mostly two budded setts are used for planting.

Choose the correct answer from the options given below :

1. (A),(B)and (C) only.
2. (A),(B) and (D) only.
3. (A),(B),(C)and (D).
4. (B), (C) and (D) only.

Objective Question
14 2314 4.0 1.00
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Which of the following food products contain carbohydrates mainly in the form of

starch ?

(A) Apple
(B) Wheat
(C) Rice
(D) Potato
(E) Orange

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (A), (B) and (E) only.
3.  (A),(B),(C) and (E).
4 (B), (C) and (D) only.

Objective Question
15 2315 4.0 1.00

gcollegedunias
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Which of the following statements are true about Pradhan Mantri Mudra Yojana

(PMMY) ?
(A) Launched in April 2014
(B)
and service sectors
©
(D)
(E)

Grant loans of up to Rs. 10 lahks for income-generating manufacturing, trading,

The term loan and working capital requirements can be met

The rate of Interest is decided by the state governments

There is no insistence on collateral(s) during the sanction of the loan

Choose the correct answer from the options given below :

1
2
3
4

Objective Question
16 2316

(B), (C) and (E) only.
(A), (B) and (D) only.
(A), (B), (C) and (D).
(B), (C) and (D) only.
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Match List-I with List-1I

List-1 List-11
(Process /Practice) (Title of Process)

(A) A man-made deposit of soil, rock, or other materials, is (I)  Gully erosion
often used to form an impoundment

(B) Relatively deep incision of the soil surface caused by (II) Splash erosion
concentrated overland runoff

(C) Small eroding channels are produced by surface runoff  (III) Rill erosion

(D) The dispersal of soil particles resulting from direct (IV) Embankment
raindrop impact on the soil surface

Choose the correct answer from the options given below :

1.  (A)-1V),(B)- (), (C)- (I, (D) - (I)
2. (A)-(D,®B)-dD, (C) - (I, (D) - (IV)
3. (A)-D),B)-dD, (C) - (1V), (D) - (III)
4. (A)-ID), (B) - (IV), (C) - (D), (D) - (II)

Al:1
A2:2
A3:3
Ad:4

Objective Question
17 2317 4.0 1.00
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Match List-I with List-1I

(A)
(B)
©
(D)

List-1
(Programmes/schemes)
Jal Jeevan Mission
Pradhan Mantri Awaas Yojana —Gramin (PMAY-G)
Direct Benefit Transfer Scheme

Rashtriya Gram Swaraj Abhiyan (RGSA)

Choose the correct answer from the options given below :

1
2
3.
4
Al:1
A2:2
A3:3

A4:4

Objective Question
18 2318

(A) - (D, (B) - I), (C) - (I, (D) - AV)
(A) - (IV), (B) - (ID), (C) - (II), (D) - (D)
(A) - (II), (B) - AV), (C) - (D), (D) - (ID)
(A)- (11D, (B) - (1), (C) - (IV), (D) - (I)

Given below are two statements :

Statement (I) :

system.

List-11

(Year of launch)

M 2013
(II) 2018
(Il) 2019
(IV) 2016

4.0 1.00

Soil structure determines the volume of soil accessible to the root

Statement (II) : Soil depth is based on the distribution and aggregation of soil particles

and determines the distribution of pore sizes.

In light of the above statements, choose the most appropriate answer from the options
given below.

1

2
3.
4

Both Statement (I) and Statement (II) are correct.

Both Statement (I) and Statement (II) are incorrect.

Statement (I) is correct but Statement (II) is incorrect.

Statement (I) is incorrect but Statement (II) is correct.
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A2:2

A3:3
Ad:4

Objective Question
19 2319 4.0 /1.00
Given below are two statements :

Statement (I) : India ranks fifth in the world and fourth in Asia among the mega-
diverse (biodiversity) countries in the world.

Statement (II) : One of the outcomes of the COP 15 is to reduce to near zero the loss
of areas of high biodiversity importance.

In light of the above statements, choose the most appropriate answer from the options
given below.

1 Both Statement (I) and Statement (II) are correct.

2 Both Statement (I) and Statement (II) are incorrect.

3.  Statement (I) is correct but Statement (II) is incorrect.
4

Statement (I) is incorrect but Statement (II) is correct.

Objective Question
20 2320 4.0 1.00

Qcollegedunias
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Arrange the countries based on their contribution to world wheat production (highest to
lowest).

(A) India

(B) United State of America

(C) Russian Federation

(D) China

Choose the correct answer from the options given below :

L. (A), (D), (O), (B).
2. (A),(O),B), (D)
3. (B),(A), (D), (©)
4. (D), (A), (O), (B).

Objective Question
21 2321 4.0 1.00
According to sweetness Index (SI), the value of 1.0 is given to which is

taken as a reference value for comparison with other carbohydrates.

1 Glucose
2. Sucrose
3. Dextrin
4, Galactose
A2:2

A3:3

Ad:4

Objective Question
22 2322 4.0 1.00

gcollegedunias
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Low temperature, preserves food by :

I.  Killing microorganisms through denaturation of proteins and inactivation of
enzymes

2.  Preventing the entry of disease causing and spoilage organisms
Decreasing the rate of chemical and enzymetic reactions.

4.  Stoping the growth and activity of the microorganism by interfering with the cell
membrane or the enzyme activity

Al: 1
A2:2
A3:3
Ad:4

Objective Question

23 2323 4.0 1.00
Protein requirements for adult moderate active women is g/kg body
weight/day.

I. 1.0
2. 095
3. 086
4. 083
Al:1
A2:2
A3:3
Ad:4

Objective Question
24 2324 . . . . . . 4.0 1.00
Which of the following plays a significant role in foetal and infant early growth and

development ?

1.  Docosahexaenoic acid (DHA)

2. Partially hydrogenated Vegetable oils (PHVO)
3.  Linoleic acid (LA)

4, Monosaturated fatty acids (MUFA)

a2 gcollegedunias

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html India’s largest Student Rydgpgipatiorm



7/10/23,12:18 PM 181_B1_Live_ HOMESCIENCE_1-120.html

A3:3
Ad:4

Objective Question
25 12325 . . . 4.0 1.00
What energy requirement (Kcal/kg ideal body weight) would you recommend for an

adult obese heavy worker ?

1 20-25
2 30

3. 35

4. 40
Al:1

A2:2

A3:3

Ad:4

Objective Question
26 2326 i . 4.0 1.00
is a tool used to assess energy management of both man and material by

providing asystematic description of the work cycle in an institutional food service Unit.
1 Process chart

2 Organization chart

3. Staff scheduleing
4

Layout plan
Al:1
A2:2
A3:3
Ad:4
Objective Question
27 2327 4.0 1.00
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Under the National Iron Plus Initiative Programme, which of the following beneficiary
is provided a supplement containing 100 mg elemental iron and 500mcg of folic acid
weekly ?

1. Pregnant and lactating mothers
2. Children aged 10-19 years

3. Children 5-10 years

4. Children 6-60 months.

Al:1
A2:2
A3:3
A4 4

Objective Question

28 2328 4.0 1.00
What is the ICMR (2020) recommended conversion factor of Beta carotene to Vitamin
A?

1. 1251
2. | S
3. 81
4. 6:1
Al:1

A2:2

A3:3

A4:4

Objective Question

29 12329 4.0 1.00
As per the latest FSSAI regulations, the use of industrial trans fatty acid (TFA) is
limitted to not more than per cent in all fats and oils by January 2022.
L,
2. 2
3.
4. 05
Al:1

A2:2 gcollegedunias
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A3:3
Ad:4

Objective Question
30 2330 4.0 1.00
The Food Safety and Standard Authority of India draft regulation on genetically

modified (GM) food proposes that all food products having individual genetically
engineered ingredient of % or more to be labelled as" Contains
GMO/Ingredient derived from GMO"

0.25

1.
2.
: I |
4.

Objective Question
31 2331 4.0 1.00

Which of the following are NOT the dry heat methods of cooking ?
(A) Poaching

(B) Blanching

(C) Stewing

(D) Baking

Choose the correct answer from the options given below :

I.  (A),(B)and (C) only.
2. (A), (B) and (D) only.
3.  (B), (C) and (D).

4. (A),(C) and (D) only.

A3:3 .
gcollegedumas
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Ad:4

Objective Question
32 2332 . ) ) . 4.0 |[1.00
The nutritive value of the cereals can be improved by which of the following processes?

(A) Fermentation

(B) Roasting

(C) Sprouting

(D) Milling

(E) Parching

Choose the correct answer from the options given below :

1 (A), (B) and (C) only.
2 (B), (C) and (D) only.
3. (O), (D) and (E).

4 (A), (C) and (E) only.

A2:2
A3:3
A4 :4

Objective Question
33 2333 4.0 1.00

gcollegedunias
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Which of the following nutrients are provided by whole milk ?
(A) Vitamin C

(B) Thiamine

(C) Fats

(D) Vitamin A

(E) Riboflavin

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
@ (A), (B) and (E) only.
3.  (B),(C)and (D) only.
4 (C), (D) and (E) only.

Objective Question

34 2334

Which of the following are risk factors for pregnancy ?
(A) BMI 23.5kg/m*

(B) Maternal weight < 45kg

(C) Short stature

(D) Multigravida

(E) Birth interval 18-24 months

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (B), (C) and (D) only.
3. (C),(D) and (E) only.
4 (A), (C) and (E) only.

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html
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Al:1

A2:2
A3:3
Ad:4

Objective Question
35 12335 4.0 1.00
Which of the following are the functions of a menu ?

(A) Standardizing recipe

(B) Introducing the establishment to the consumer

(C) Determine the style of service to be set up

(D) Help to organize space in store, kitchen and service area.
(E) Meeting nutrient needs

Choose the correct answer from the options given below :

I. (A),(B) and (D) only.
2 (A), (C) and (E) only.
3.  (B), (C) and (D) only.
4. (C), (D) and (E) only.

Objective Question
36 2336 4.0 1.00

gcollegedunias
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Match List-I with List-II

(A)
(B)
(©
(D)

List-I List-1I
(Disease conditions) (Substance/conditions linked to disease)
Kidney disease ()  Large waist circumference
Coronary Vascular disease (II) Muscle wasting
Cirrhosis (IIT) Homocysteine
Metabolic syndrome (IV) Creatinine

(V) Galactosemia

Choose the correct answer from the options given below :

1

2.
3.
4

Al:1
A2:2
A3:3
A4 4

Objective Question
37 2337

(A) - AV), (B) - (1I), (C) - (D), (D) - (1)
(A)-(V), (B)-AV), (O - D), (D) - 1D
(A) - D, (B) - (V), (C) - (IV), (D) - (I1I)
(A) - (IID, (B) - (IV), (C) - (V), (D) - (D)
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Match List-I with List-II

(A)
(B)
(©
(D)

List-1

(Foods)
70g carbohydrate from rice
30g protein from dal

15g butter

181_B1_Live_HOMESCIENCE_1-120.html

List-11

(Calorie (Kcal) contribution)

M 100
an 135
(1) 280

25g dietary fibre from green leafy vegetables (IV) 120

(v) 50

Choose the correct answer from the options given below :

1

2.
3
4

Al:1
A2:2
A3:3
A4 :4

Objective Question
38 2338

(A) - (D, (B) - (IID, (C) - (IV), (D) - (1)
(A) - (D), (B) - (IV), (C) - (D, (D) - (V)
(A) - V), (B) - (V), (O) - (D), (D) - (III)
(A) - (D, (B) - (IV), (C) - (V), (D) - (D)

4.0 1.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled
as Reason (R).

Assertion (A) : Wasting is considered as an index of chronic long duration

Reason (R) :

undernutrition.

Common childhood morbidities like diarrhoea, respiratory infections

can lead to weight loss and wasting.

In light of the above statements, choose the correct answer from the options given

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true and (R) is not the correct explanation of (A).

below.

|

2.

3. (A) 1s true but (R) 1s false.
4, (A) is false but (R) is true.

gcollegedunias
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Al:1

A2:2
A3:3
Ad:4

Objective Question
39 2339 4.0 1.00
Given below are two statements, one is labelled as Assertion (A) and other one labelled

as Reason (R).
Assertion (A) : The property of invert sugar is that it does not crystallise.

Reason (R) : Sugar hydrolyses in the presence of acid to form glucose and
fructose which is called invert sugar

In light of the above statements, choose the correct answer from the options given
below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true and (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4.  (A)is false but (R) is true.

A2:2
A3:3
A4 :4

Objective Question
40 2340 4.0 1.00

gcollegedunias
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Arrange the following nutrition programmes/policy in the correct order of year of
inception from early to most recent.

(A) National Nutrition Mission

(B) Janani Shishu Suraksha Karyakaram

(C) National Nutrition Policy

(D) National Iodine Deficiency Control Programme

(E) Mid Day Meal Programme

Choose the correct answer from the options given below :

L. (A), (D), (E), (B), (O).
2. (B), (A),(C), (B), (D).
3. (D), (O), (E), (B).(A)
4. (O), (B), (D), (A), (E).

z(l)lb jeczt;VztelQueStion 4.0 [1.00
Which of the following is not a physical change associated with puberty ?
I.  Development of secondary sex characteristics
2. Increase in height and weight
3. Growth of body hair
4.  Development of abstract thinking skills

Objective Question
42 2342 4.0 1.00

gcollegedunias
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Which of the following statements about Piaget's theory of moral development is true ?

Al :

A2:

A3:

A4 :

Objective Question
43 12343

Children's moral reasoning develops in a fixed sequence that cannot be influenced

by social experiences.

Piaget believed that moral development begins in adolescence.

The highest stage of moral development in Piaget's theory is characterized by an
emphasis on obedience to authority.

Piaget's theory of moral development emphasizes the role of cognitive
development in shaping moral reasoning.

4.0 1.00

Which of the following is NOT a stage of role taking in middle childhood social and
personality development ?

1
2
3.
4

A2:

A3:

A4 :

Objective Question
44 2344

Egocentric
Subjective
Objective
Mutual

4.0 1.00

Which of the following is a method of studying child development that involves
comparing groups of children of different ages at the same time ?

1
2
3.
4

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html

Case study
Correlational study
Experimental study

Cross-sectional study

-
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A2:2
A3:3
A4 4

Objective Question
45 2345 . . Lo . 4.0 1.00
Which of the following principles of development refers to the idea that development

occurs in a sequential and predictable pattern ?
1.  Plasticity

2. Continuity

3. Ciritical periods
4.

Maturation

Objective Question
46 2346 . . . . . . 4.0 1.00
According to social learning theory, which of the following processes involves

observing and imitating the behaviors of others ?

I.  Operant conditioning

2. Classical conditioning
3. Observational learning
4.

Insight learning

Objective Question
47 2347 4.0 1.00

gcollegedunias
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At what stage in Kohlberg's cognitive developmental theory do children become aware
of gender as a social category and begin to use gender as a way of organizing
information about the world ?

1
2
3.
4

Objective Question

Basic Gender Identity
Gender Stability
Gender Constancy

Gender Categorization

48 2348 4.0 1.00
Brain lateralization refers to :
1 The specialization of different regions of the brain for different functions
2 The size of the brain in relation to body weight
3. The rate of growth of the brain in early childhood
4 The overall level of brain development in childhood
Al:1
A2:2
A3:3
A4:4
Objective Question
49 2349 4.0 1.00

In a family system, the roles that family members play :

1

2
2
4

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html

Are always fixed and unchanging
Are determined solely by the parents
Can be negotiated and changed over time

Are irrelevant to the functioning of the family

gcollegedunias
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A3:3
Ad:4

Objective Question
50 12350 . . . . . . 4.0 1.00
Which of the following dimensions of infant temperament refers to the regularity or

predictability of biological functions such as sleep and hunger ?

I.  Rhythmicity

2. Adaptability

3.  Intensity of reaction
4.

Threshold of responsiveness

Objective Question
51 2351 4.0 1.00

Which statements hold true for Stanford-Binet Intelligence Scale ?

(A) Is atest that measures intelligence between the ages of 2 to adulthood.

(B) The test was first developed in France in the early 1900s.

(C) The test originally was made for identifying slow learners.

(D) It only measures verbal intelligence and does not assess nonverbal abilities.
Choose the correct answer from the options given below :

1. (A), (B) and (C) only
2. (A), (B) and (D) only
3. (B),(C) and (D) only
4.  (A),(C)and (D) only

gcollegedunias
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Objective Question
52 2352 4.0 1.00
Which of the following is an example of an authoritarian parenting style ?

(A) A parent who is cold and rejecting

(B) A parent who is warm and supportive

(C) A parent who sets few rules or limits with explanation

(D) A parent who enforces strict rules without explanation

(E) A parent who is permissive and indulgent

(F) A parent who encourages children to make their own decisions
Choose the correct answer from the options given below :

1 (A) and (D) only
2 (B) and (C) only
3.  (E)and (F) only
4 (B) and (D) only

Objective Question
53 2353 4.0 1.00

gcollegedunias
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Which of the following activities would you organize to foster fine motor development?
(A) Clay modeling

(B) Coloring

(C) Running

(D) Skipping

(E) Paper Folding

Choose the correct answer from the options given below :

1 (A),(B) and (D) only
@ (A),(B) and (E) only
3.  (A),(B)and (C) only
4 (C) and (D) only

Objective Question
54 2354 4.0 1.00
As per an ecological perspective to child development which of these settings would

interact with development of child :

(A) Parenting style

(B) Teacher’s attitude with the child

(C) Peer pressure

(D) Government laws and regulations

(E) Customs and traditions

Choose the correct answer from the options given below :

1 (A),(B) and (C) only

2. (A), (B) and (D) only

3. (A)(B).(C).(D) and (E)

b By g collegedunia:
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Al:l
A2:2
A3:3
Ad:4

Objective Question
55 12355 4.0 1.00
National Education Policy emphasis on which of the following ?

(A) Teaching in mother tongue to primary school children
(B) Inclusive education

(C) Holistic education

(D) Eliminating early childhood education

(E) 343+5+4 (Curriculum and pedagogical structure design)
Choose the correct answer from the options given below:

1 (A), (B) and (C) only.
2 (A), (B) and (D) only.
3. (A),(B),(C) and (D) only.
4 (A), (B) and (E) only.

Objective Question
56 2356 4.0 1.00

gcollegedunias
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Match List-I with List-II

List-I List-11
oo i Meaning
(A) Identity Diffusion (I)  Active exploration without commitment
(B) Identity Foreclosure (II) Commitment without exploration
(C) Identity Moratorium (IIT) Resolution after exploration, commitment
(D) Identity Achievement (IV) Lack of exploration, commitment

Choose the correct answer from the options given below :

1.  (A)-O,®)-dD, (C) - (IV), (D) - (III)

2. (A)-AD,(B) - AV), (C) - (D), (D) - (III)
3. (A)-1@V), (B) - I), (C) - (M), (D) - dD
4. (A)-(1IV), (B) - (D), (C) - (D), (D) - (11I)

Al:1

A2:2

A3:3

Ad:4

Objective Question
57 2357 4.0 1.00

Qcollegedunias
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Match List-I with List-II

List-I List-II

(Infant Emotions which emerge according to

Izard et al., 1980 and Trotter 1983)  |cDevelopmental stage)
(A) Distress (I)  3-4 Months
(B) Fear (I) 4-6 Weeks
(C) Anger (III) Present at birth
(D) Social smile (IV) 5-7 months

Choose the correct answer from the options given below :

L. (A)- I, B) - AV), (C) - (D, (D) - (I

2. (A)-AV),(B) -, (O - (), (D) - (1))
3. (A)-ID,B)- [, (C)-AV), (D) - 1D
4. (A)- (D, B)-(1V), (C) - (II), (D) - (11I)

Al:1

A2:2

A3:3

Ad:4

Objective Question
58 2358 . . 4.0 1.00
Given below are two statements, one is labelled as Assertion (A) and other one labelled

as Reason (R).
Assertion (A) : The sex of a human offspring is determined by the presence or
absence of a Y chromosome in the sperm.

Reason (R) : Sperm cells from males contain either an X or a Y chromosome, while
egg cells from females contain only an X chromosome.

In light of the above statements, choose the most appropriate answer from the options
given below.

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A).

2 Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

3. (A) is correct but (R) is not correct.
4.

(A) 1s not correct but (R) is correct.

AL gcollegedunias
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A2:2
A3:3
A4 4

Objective Question
59 2359 . . 4.0 1.00
Given below are two statements, one is labelled as Assertion (A) and other one labelled

as Reason (R).
Assertion (A) : The three stages of prenatal growth are sequential and do not overlap.

Reason (R) : Each stage of prenatal growth is characterized by different physical
and cognitive developments and has distinct vulnerabilities to
teratogens.

In light of the above statements, choose the most appropriate answer from the options
given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.
4,

(A) is not correct but (R) is correct.

Objective Question
60 2360 4.0 1.00

gcollegedunias
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Arrange the following Erikson's Stages of Development in ascending order :
(A) Industry vs. Inferiority

(B) Integrity vs. Despair

(C) Identity vs. Identity confusion

(D) Intimacy vs. Isolation

(E) Initiative vs. Guilt

Choose the correct answer from the options given below :

L. (A), (E), (B), (D),(C)
2. (A),(E), (C), (D), (B)
3. (E), (A), (C), (D),(B)
4. (E), (A), (O), (B), (D)

Objective Question
61 2361 - ; 4.0 1.00
Students of Resource Management prepare a low-cost nutritious snack along with

village women, which is marketable in communities. This is an example of :

I.  Dramatised experience
2. Study trip

3. Contrived experience
4.

Direct purposeful experience

Objective Question
62 2362 4.0 1.00

gcollegedunias
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A person who is successfully holding a responsible position in their profession along
with their duties as a home maker is :

1 Motivated

2. Goal-minded
3, Value-centric
4,

Decision-focused

Objective Question
63 2363 ] ) o _ _ 4.0 1.00
“Management consists of a series of decision making processes for using resources to

achieve goals.” This concept was given by :
1.  Mary Parker Follet
2. L.C. Hart

3. Peter Drucker
4.

Gross and Crandall

Objective Question
64 2364 4.0 1.00
Which of the following is NOT an ovenware ?
I.  Oven glass
2. Earth ware and Stoneware
3. Fireproof porcelain
4.

Styrofoam

gcollegedunias
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A3:3

A4 4

Objective Question
65 2365 . . . . . . . 4.0 1.00
Which of the following theory of family has been criticized for its patriarchal views as

well as for not being able to explain the differences between culture and ethnicity ?

1.  Structural-functional theory
2. Functional theory

3. Structural theory
4,

Family - structure theory

Objective Question
66 2366 . . . . . . . 4.0 1.00
In work study, this technique involves making a film for permanently recording time

and motion.

I.  Chrono-cycle graph
2. Micro-motion study
3.  Cycle-graph

4.  Micro-cycle graph

Objective Question
67 2367 4.0 1.00

In “Time and Motion” study, the symbols used to define steps in a process chart are :
Operation, Recording, Transportation, End of Activity
Start, Operation, Recording, Delay, Activity

1.
2
3. Operation, Inspection, Transport, Delay, Storage, Combined Activity
4.

Operation, Transportation, Inspection, Delay, Storage .
% collegedunias
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Al:l
A2:2
A3:3
Ad:4

Objective Question
68 2368 . . . 4.0 1.00
ECO Mark launched by BIS, is given to those products which not only meet ISI

standards, but :

1 Are also of sustainable sizes

2 Also help consumers make informed choices
3. Are also recyclable and save energy

4 Also have AGMARK and FPO logos

E;jeczt;\:gQuestion 4.0 [1.00
Which of the following is not an eco-friendly building material / product ?
1 Bagasse Board
2 Pre-cast slabs
3. CFI lamps
4

Petroleum

Objective Question
70 2370 4.0 1.00

gcollegedunias
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The colours - pale blue, sky blue and navy form which of the following scheme ?

1 Analogous

2 Monochromatic
3. Primary

4 Complementary

Objective Question
71 2371 . . 4.0 1.00
The most popular of rugs are the oriental rugs. These are outstanding for :

(A) Workmanship

(B) Fine design

(C) Subtle colouring

(D) Rubber foams

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (A), (B) and (C) only.
3. (A), (C) and (D) only.
4 (B), (C) and (D) only.

A2:2
A3:3
Ad:4

Objective Question
72 2372 4.0 1.00

gcollegedunias
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From the following, which ones are Taylor’s Principles of Management ?
(A) Development of best work method

(B) Selection and development of workers

(C) Selection and development of best work place

(D) Close cooperation of managers and non-managers

Choose the correct answer from the options given below :

1. (A), (B) and (D) only.
2, (A), (B) and (C) only.
3. (A), (C) and (D) only.
4.  (B), (C) and (D) only.

Objective Question
73 2373 y " L. . . 4.0 1.00
Placement of light switches at a low level is ideal for which of the following people

with special needs ?

(A) Deaf people

(B) Kids with disabilities

(C) People in wheelchair

(D) Old people

Choose the correct answer from the options given below :

1. (A),(B)and (D) only.
2. (A), (C) and (D) only.
3. (B),(C) and (D) only.
4. (A), (B), and (C) only.

A2:2 gcollegedunias
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A3:3
Ad:4

Objective Question
74 2374 4.0 1.00
Which of the following are sources of Real Income ?

(A) Use of house

(B) Use of cash

(C) Use of vegetables grown in home garden

(D) Use of community facilities like parks

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (B), (C) and (D) only.
3.  (A),(C)and (D) only.
4 (A), (B) and (C) only.

A2:2
A3:3
A4 :4

Objective Question
75 2375 4.0 1.00

gcollegedunias
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From the following, which are the ones used as window furnishings ?
(A) Cornice

(B) Ruffles

(C) Valances

(D) Place mats

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (A), (C) and (D) only.
3. (B), (C) and (D) only.
4 (A), (B) and (C) only.

Objective Question

76 2376
Match List-I with List-II

4.0 1.00

List-1 List-IT
(Principle of Design) (Description)
(A) Proportion (I)  Progression or gradation of sizes, colour, lines and light
(B) Unity (II) Relationship of one part to another, or to the whole
(C) Balance (III) Interdependence of constituent parts to form a whole
(D) Rhythm (IV) Feeling of steadiness and repose

Choose the correct answer from the options given below :

L. (A)-(IV), B)-(D), (C)-(ID), (D)-(11T)

2. (A)-(ID, (B)-(I), (C)-(IV), (D)-(I)

3. (A)-(ID, (B)-(AV), (C)-(D), (D)-(IT)

4. (A)-(ID, (B)-(D), (C)-(IV), (D)-(I1I)
Al:1
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A2:2

A3:3

A4 4

Objective Question
77 2371 4.0 1.00

Match List-I with List-I1

List-1 List-11
(Electrlc'al Home- (Function)
appliance)
(A) Microwave (I) Heating device in which natural gas is used for fuel
(B) Geyser (II) Radiation heating through magnetron happens

(III) Draws electricity from the mains, heats a coil inside and

(C)  Gas-burner then heat is transferred to bottom plate

D) ElSctHe o (IV) Converts electrical energy into heat energy using electric
resistance
Choose the correct answer from the options given below :

L. (A)-(1V), (B)-(II), (C)-(ID), (D)-(I)
2. (A)-(ID, (B)-(AV), (CO)-(D), (D)-(11L)
3. (A)-(D), (B)-(IID), (C)-(1), (D)-(IV)
4. (A)-(ID), (B)-(ID), (C)-(I), (D)-(IV)

Al:l
A2:2
A3:3
Ad:4

Objective Question
78 2378 4.0 1.00

Qcollegedunias
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Given below are two statements, one is labelled as Assertion (A) and other one labelled
as Reason (R).

Assertion (A) : Pink is a ‘tint’ of red and maroon is a ‘shade’ of red.

Reason (R): Dark value shades are to be used at higher levels and lighter value
tints at lower levels of ceiling height.

In light of the above statements, choose the correct answer from the options given
below.

I.  Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
. A (A) is true but (R) is false.

4.  (A)is false but (R) 1s true.

Objective Question
79 2379 4.0 11.00
Given below are two statements :

Statement (I) : The refrigerant is one whose boiling point at normal atmosphere
pressure is lower than the temperature we wish to obtain.

Statement (II) : When the pressure on a liquid is decreased it will boil (burn into
vapor) at a much lower temperature.

In light of the above statements, choose the most appropriate answer from the options
given below.

1.  Both Statement (I) and Statement (II) are true.

2. Both Statement (I) and Statement (II) are false.
3.  Statement (I) is true but Statement (II) is false.
4.  Statement (I) is false but Statement (II) is true.
Al:1
A2:2
A3:3
Ad:4

Qcollegedunias
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Objective Question
80 2380 4.0 1.00
Preparation of budget involves the following steps. Arrange them in order :

(A) Estimate total expected income
(B) Estimate the cost of desired items
(C) Check the plans to see that they have a reasonable chance of success and

possibilities of savings for future

(D) List the commodities and services required by family members throughout the
proposed budget period

(E) Bring expected income and expenditures into balance
Choose the correct answer from the options given below :

1. (A),(C), (B), (D), (E)
2. (D), (E), (B), (C), (A)
3. (D), (B), (A), (E), (C)
4. (O),(B), (A), (E), (D)

Objective Question
81 2381 Ny . L . 4.0 1.00
Identify the wetting agent used as a printing auxiliary ?

1.  Turkey red oil

2. Sodium lactate

3.  Urea

4.  Potassium Ferro cyanide
Al:1

A2:2

A3:3

A4:4

Objective Question

82 12382 4.0 1.00 R
collegedunia:
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Which of the following is not a Phulkari ?

1.  Chope
2. Tilpatra
3. Suber
4. Lep
Al:1

A2:2

A3:3

Ad:4

Objective Question
83 12383 . . . ; . . 4.0 1.00
For a medium heavy fabric like gabardine, denim and tweed, the number of machine

needle most suitable is :

{ T
2. 14
3. 16
4. 18
Al:l
A2:2
A3:3
A4:4

Objective Question
84 12384 . . . . . . 4.0 1.00
Which of the following is an inorganic manufactured fiber ?

1. Glass

2 Azlon

3. Asbestos
4, Aramid
Al:1l
A2:2

A3:3
gcollegedumas
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Ad:4

Objective Question
85 12385 . . . i - . . 4.0 1.00
Which of the following layout is NOT suitable for unidirectional fabrics ?

I.  Double lengthwise fold
2. Crosswise fold

3. Open fold

4.  Longitudinal fold

Objective Question

86 2386 4.0 1.00
Which of the following is responsible for pushing the filling yarns in place thus making
the fabric firm and compact ?

1. Harness
2. Reed

3. Temple
4, Heddles
Al:1l

A2:2

A3:3

A4 4

Objective Question
87 12387 . . . 4.0 1.00
Identify the woven fabric from the following.

1 Jersey

2 Interlock
3. Pique

4 Burlap

gcollegedunias
& India’s largest Student Ravgmgatfurm
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A2:

A3:

A4:

Objective Question
88 2388

2

181_B1_Live_HOMESCIENCE_1-120.html

A king size bed sheet would measure :

1

2
3.
4

Objective Question

89 2389

108 x 110 inches
90 x 110 inches
90 x 104 inches
112 x 118 inches

Grass stain can be removed by using :

1

2
3
4

Objective Question

90 2390

Potassium Permaganate
Borax

Methylated Spirit
Oxalic Acid

Which of the following is a Kasuti stitch ?

1

2
52
4

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html

Taipchi
Khatao
Negi

Phanda

-

4.0 1.00

4.0 1.00

4.0 1.00

collegedunias
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Al:1

A2:2
A3:3
Ad:4

Objective Question
91 2391 4.0 1.00
Themes depicted by designs on Chamba Rumal embroideries are :

(A) Ras dances

(B) Ragas and raginis

(C) Krishan leela

(D) Game of chaupad

(E) Gopurams

Choose the correct answer from the options given below :

. (A),(B),(C) and (D) only.
2. (A), (B), (D) and (E) only.
3. (B), (C), (D) and (E) only.
4. (A),(B), (C) and (E) only.

A2:2
A3:3
Ad:4

Objective Question
92 2392 4.0 1.00

gcollegedunias
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Features suitable for infant's clothing are :

(A)
(B)
(©
(D)

(E)

Raglan sleeves

Enough seam allowances to fit next year
Loose neck and arm openings

Buttons and buttonholes

Knit garments

Choose the correct answer from the options given below :

1
2
A
4

A2:2

A3:3

Ad:4

Objective Question
93 2393

(A), (B) and (C) only.
(A), (B) and (D) only.
(B). (C) and (D) only.
(A), (C) and (E) only.

Which of the following are emphasized in the hospital laundry :

(A)
(B)
©
(D)

(E)

Perfect folding
Hygiene
Cleanliness
Disinfection

Correct ironing

Choose the correct answer from the options given below :

1
2
3
4

(A), (B) and (D) only.
(B), (C) and (D) only.
(A), (B), and (C) only.
(B), (C) and (E) only.
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Al:1

A2:2
A3:3
Ad:4

Objective Question
94 2394 4.0 1.00
Your friend is short and plump, which of the following features will you recommend to

her for giving an illusion of height.

(A) Dress with knife pleats

(B) Dress with box pleats

(C) V- Neckline

(D) Monochromatic colour scheme

(E) Contrast colour scheme

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
2 (A), (B) and (C) only.
3.  (B), (C) and (D) only.
4 (A), (C) and (D) only.

Objective Question
95 2395 4.0 1.00

gcollegedunias
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Finishes that alter fabric luster are :

(A) Beetling

(B) Calendering

(C) Parchmentizing

(D) Cire'

(E) Moire'

Choose the correct answer from the options given below :

1 (A), (B, (C) and (D) only.
2 (A), (B), (C) and (E) only.
3.  (A),(B),(D)and (E) only.
4 (B), (C), (D) and (E) only.

Objective Question
96 2396 4.0 1.00

gcollegedunias

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html India’s largest Student Regiepgipatiorm



7/10/23,12:18 PM 181_B1_Live_ HOMESCIENCE_1-120.html

Match List I with List 1T

List I List IT
(Terms) (Description)
(A) Amli (I) Circular thin wire used in Zardozi embroidery
(B) Gizai (II) Wooden spoon used for weaving a Kani shawl
(C) Matsya (III) Fish motif
(D) Tujis (IV) Hooked needle

Choose the correct answer from the options given below :

L. (A)-{AV), (B) - (1), (C) - (I, (D) - (II)

2. (A)-O,B)-d, (C) -Jn, (D)-av)
3. (A)-D),(B) -1, (C) - (1V), (D) - (III)
4. (A)-{I, B)-AV), (O) - (D, (D) - D)

Al:1

A2:2

A3:3

Ad:4

Objective Question

97 2397
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Match List I with List IT

List 1 List II
(Starches) (Effects)
(A) Rice () Produces undesirable stiffness which feels rough to touch

(B) Wheat (II)  Suitable for cold water starching as the grain size is small
(C) Maize (III) Gives stiffness that lasts even after several washings
(D) Dip (IV) Very expensive hence economically unusable in laundry

Choose the correct answer from the options given below :

L. (A)-(@),(®B)- D, (C) - I, (D) - AV)
2. (A)-I), (B) - AV), (C) - (D), (D) - (II)
3. (A)-(D,®B)- D, (C) - (IV), (D) - (1II)
4. (A)-dID, (B) - AV), (C) - (D, (D) - D

Al:1
A2:2
A3:3
A4:4

Objective Question
98 2398 . . 4.0 1.00
Given below are two statements, one 1s labelled as Assertion (A) and other one labelled

as Reason (R).
Assertion (A) : Wool has a soft handle, lower chemical resistance and good water and
dye absorption.

Reason (R) : 70-75% of crystalline regions of the wool structure are responsible for
the above properties.

In light of the above statements, choose the correct answer from the options given
below.

1 Both (A) and (R) are true and (R) is the correct explanation of (A).

2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) 1s true but (R) 1s false.

4 (A) is false but (R) is true.

gcollegedunias
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A2:2

A3:3
Ad:4

Objective Question
99 2399 . . 4.0 1.00
Given below are two statements, one is labelled as Assertion (A) and other one

labelled as Reason (R).

Assertion (A) : Maintenance of fabrics made from high twist yarns is easier.

Reason (R) : Twisted yarns shed soil easily as less space between the fibres does
not allow the soil to settle.

In light of the above statements, choose the correct answer from the options given
below.

I.  Both (A) and (R) are true and (R) is the correct explanation of (A).

2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3 (A) 1s true but (R) 1s false.

4.  (A)is false but (R) is true.

Objective Question
100 | 2400 4.0 1.00

gcollegedunias
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Give the correct sequence of operating the basic loom.
(A) Beatup

(B) Picking

(C) Letoff

(D) Take up

(E) Shedding

Choose the correct answer from the options given below :

L. (A),(B), (C), (D), (E).
2. (D), (O),(A), (B), (E).
3. (O, (E), (B),(A), (D).
4. (O),(B), (D), (A), E).

Objective Question
101 2401 . . i 4.0 1.00
Applying multiple methods of data collection, sources of data and approaches to

analysis in community processes is called :

Situation Analysis

1

2 Data Analysis
3.  Triangulation
4 Estimation
Al:1

A2:2

A3:3

Ad:4

Objective Question
102 2402 4.0 1.00

gcollegedunias

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa22172.20342/181_B1_Live_HOMESCIENCE_1-120.html India’s largest Student Regpgipatiorm



7/10/23,12:18 PM 181_B1_Live_ HOMESCIENCE_1-120.html

National Skill Development Mission was launched in the year -

1 2010
2 2015
5 2019
4 2022
Al:1
A2:2
A3:3
A4:4

Objective Question
103 2403 . . . . . 4.0 1.00
The Sustainable Development goal, that deals with working towards achieving goals of

affordable and clean energy is -

1. SDGI1
2. SDG 3
3. SDG7
4. SDGI11
Al:1
A2:2
A3:3
A4:4

Objective Question
104 2404 . . . . . . 4.0 1.00
What is the name of Communication wherein mutual exchange of information takes

between people at the same time ?

I.  Symbolic

2. Symptomatic
3. Synchronous
4.  Intrapersonal
Al:l
A2:2

A3:3 gcollegedunias
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Ad:4

Objective Question
105 2405 . . 4.0 1.00
The term 'KVK' in the field of Extension stands for :

I.  Kisan Vikas Kendra
2. Kirishi Vigyan kendra
3. Krishi Vikas Kosh
4.  Kisan Vigyan Kosh
Al:1
A2:2
A3:3
A4:4
Objective Question
106 | 2406 . ; i . . . 4.0 1.00
Which of the following models of communication is most relevant to understand "public
speaking' ?

I.  Osgood's Model

2. New Comb's Model
3.  HUB Model

4.  Aristotle's Model

Objective Question
107 2407 . L. 4.0 1.00
Human perception is influenced by -
1 Font
2 Time of the day
3.  Eye Contact
4 Cultural beliefs

Al:1 .
gcollegedumas
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A2:2
A3:3
A4 4

Objective Question
108 2408 . . . . . 4.0 1.00
Who conceptualized the 'Cone of Experience' to explain the optimal use of Audio-

Visual aids in teaching ?
1 Edgar Dale

2 Paul Leagans
3.  Einsminger
4

Evret Rogers

Objective Question
109 2409 . . . . . . . 4.0 1.00
The 'Diffusion of Innovation' concept in extension can be applied in the context of :

1 Formal Education

2 Adoption of Technology
3. Non-formal Education
4

Monitoring and Evaluation

Objective Question
110 2410 4.0 1.00

gcollegedunias
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The below definition is most applicable to which of the following options ?

"Written text material sent by an extension officer to people in a rural community with
same information to all with great potential to influence".

1 Script of a radio program
2 Newspaper

3. Bulletin Board
4

Circular Letter

A2:2
A3:3
A4 4

Objective Question
111 2411 4.0 '1.00
Which of the following are true about Extension Education ?

(A) Itisan applied physical science

(B) [Itisan applied behavioural science

(C) Itisa formal education process

(D) Itisto bring about change in the knowledge of people
(E) Itisto bring about change in the skills of the people
Choose the correct answer from the options given below :

1 (A), (B) and (C) only.
2 (A), (B) and (D) only.
3.  (B), (C) and (D) only
4 (B), (D) and (E) only

Objective Question .
12 2412 gcolleged(umas
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Systems involved in transfer of agricultural technology are -

(A)
(B)
©
(D)

(E)

Technology generating system
Technology and Behaviour change system
Technology and people's system
Technology disseminating system

Technology practicing system

Choose the correct answer from the options given below :

1
2
3
4

Objective Question
113 2413

(A), (B) and (C) only.
(A), (B) and (D) only.
(A), (B), (C) and (D).
(A), (D) and (E) only.

Role of farm leaders in Extension include -

(A)
(B)
©
(D)

(E)

Giving credit to the needy farmers
Raising demonstration plots

Educating children of the farmers
Assistance to the farmers in getting credit

Serving needs of the innovative farmers in the village

Choose the correct answer from the options given below :

1
2
3.
4

(A), (B) and (C) only.
(B), (C) and (D) only.
(B), (D) and (E) only.
(C), (D) and (E) only.
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Al:1

A2:2
A3:3
Ad:4

Objective Question
114 2414 4.0 1.00
The rural community is characterised by the following features -

(A) Lesser social mobility

(B) Higher social solidarity

(C) Higher population

(D) Homogeneous population

(E) Higher social interaction

Choose the correct answer from the options given below :

1 (A), (B) and (C) only.
2 (A), (B) and (D) only.
3.  (B), (C) and (E) only.
4 (B), (D) and (E) only.

A2:2
A3:3
Ad:4

Objective Question
115 2415 4.0 1.00

gcollegedunias
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The key functions of non-verbal communication are -

(A) Repeating

(B) Requesting

(C) Regulating

(D) Rephrasing

(E) Accenting

Choose the correct answer from the options given below :

1 (A), (B) and (D) only.
@ (A), (C) and (E) only.
3.  (A),(B),(C) and (D).
4 (B), (C) and (E) only.

Objective Question
116 2416 4.0 1.00

Match List-I with List-II

List-1 List-11
(Methods/ Materials used in extension work ) (Purpose)
(A) Personal letter (I)  Mass mobilisation
(B) Method demonstration (II) Mass Contact method
(C) Television (II) Individual Contact method
(D) Campaign (IV) Group Contact method

Choose the correct answer from the options given below :

(A) - (), (B) - (II), (C) - (IID), (D) - (IV)
(A) - D). (B) - (1), (C) - (III), (D) - (IV)
(A) - (1), (B) - (IV), (C) - (1I), (D) - (I
4. (A)-QV). (B)- (), (C) - D). (D) - (A1) Qco”egeduniag
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Al:1

A2:2

A3:3

Ad:4

Objective Question
117 2417 4.0 1.00

Match List-I with List-I1

List-I List-I1
(Programme) (Objective)
(A) NHM () Wage Employment
(B) ICDS (IT) Self Employment

(C) NRLM (1) Nutrition
(D) MGNREGA (IV) Health

Choose the correct answer from the options given below :

L. (A)- @), (B) - (D, (C) - (D), (D) - IV)
2. (A)-{D, (B) - (ID, (©) - (D, (D) - AV)
3. (A)-D,®B)- D, (©)-(1V), (D) - I
4. (A)- V), (B) - ), (C) - dI), (D) - (D

Al:l
A2:2
A3:3
Ad:4

Objective Question
118 2418 4.0 1.00

Qcollegedunias
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Given below are two statements, one is labelled as Assertion (A) and other one labelled
as Reason (R).

Assertion (A) : Social system with its propensity towards modernity will have lower

acceptance of innovations.

Reason (R): The acceptance of innovations will create a great amount of change in

non-modern societies as opposed to modern societies.

In light of the above statements, choose the most appropriate answer from the options
given below.

1
2
2
4

A2:

A3:

A4 :

Objective Question

119 2419

Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(A) is correct but (R) is not correct.

(A) 1s not correct but (R) is correct.

4.0 1.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled
as Reason (R).

Assertion (A) : Process of gendering is an ongoing process within families

and societies.

Reason (R): Through these processes children imbibe the meaning of masculine

and feminine and internalise them to practice.

In light of the above statements, choose the most appropriate answer from the options
given below.

1

2
2
4
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Both (A) and (R) are correct and (R) is the correct explanation of (A).
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(A) is correct but (R) is not correct.

(A) 1s not correct but (R) is correct.
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Objective Question
120 2420
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4.0 1.00

Arrange the following in the correct sequence of approaches to understand women's

participation in development -

(A)
(B)
©
(D)

(E)

Gender Mainstreaming

Women and Development
Welfare
Women in Development

Gender and Development

Choose the correct answer from the options given below :

1
2
3.
4

A2:2

A3:3

A4 4

(A), (B), (C), (D), (E)

(B). (A), (D), (©), (E).
(O, (D), (B), (E), (A).
(D), (O), (A), (B), (E).
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